Kerro desimaalit kymmenen voimalla

Nimi:_ Paivamaara: _ Pisteet:
9,252 x 10 = 6,398 x 10 =
2,199 x 1000000 = 8, 787 x 10000 =
8,035 x 1000 = 5,823 x 100 =
3,656 x 10 = 9,94 x 100 =
1,652 x 100 = 6,381 x 100 =
9,225 x 1000 = 8,796 x 100000 =
2,703 x 100000 = 7,455 % 100 =
6, 17 x 100000 = 4,035 x 10000 =
1,484 x 10 = 2,332 x 10000 =
10,778 x 10 = 1,526 x 1000 =
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Kerro desimaalit kymmenen voimalla

Nimi: Piivimadrd: __ Pisteet: ____
9,252 x10=92.52 6,398 x 10 = 63.98
2,199 x 1000000 = 2199000 8,787 x 10000 = 87870
8,035 x 1000 = 8035 5,823 x 100 = 582.3
3,656 x 10 =36.56 9,94 x 100 = 994
1,652 x 100 = 165.2 6,381 x 100 = 638.1
9,225 x 1000 = 9225 8, 796 x 100000 = 879600
2,703 x 100000 = 270300 7,455 x 100 = 745.5
6, 17 x 100000 = 617000 4,035 x 10000 = 40350
1,484 x 10 = 14.84 2,332 x 10000 = 23320
10,778 x 10 = 107.78 1,526 x 1000 = 1526
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